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The figures in the margin indicate full marks

Candidates are required to give their answers in thetr

own words as far as practicable.

Nllustrate the questions wherever necessary.

‘Answer all questions :

1. Answer any eight questions : 2x8

(a) What is TLV?

(b) What do you mean by aerobic work?

{Tum Over)



{c) What is MIC?
(d} What do you mean by LDgq ?

(e) Define endemic goitre.

() Name two important air pollutants.
(g} What is food adulteration ?
(h) Write down the significance of ACP.
(i) What is meant by RAM ?
() What is nutritional anaemia ?
(kj What is meant by booster dose of vaccine ?
(1} What are the lipoproteins?‘
{m} Mention two abnormal constituents of urine.
{n} Write down causative agent of tetanus and
tuberculosis.
2. Write any five questions : Sx5

(a} What are the effects of arsenic pollution on human
body ? 5
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(b)

()

@

(e)

-

(g)

(b}

Discuss in brief, the principle and uses of USG.
2+3

Write down the causes and prevention of dental

caries. 2+3

Write in brief about cell mediated immunity.

Describe in brief about the structure of t-RNA.
5

What is the role of leptin on obesity ? Mention the
harmful effects of androgenic steroid intake on

human body. _ 2+3

Write in brief the application of computer on biclogy.
Name one output device of computer.
4+1

What are the basic differences between Gram
positive and Gram negative bacteria? What is

sterilization ? 4+1
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3. Answer any fwo questions : 11x2

(a) Whatis VO2 max ? Describe the factors affecing VO2
max. What are the differences between positive and

negative work ? | 24544

() What is noise pollution? Describe the health
' hazards due to noise pollution. Mention the

preventive measures against noise pollution.

2+5+4

(¢} What is standard deviation ?

The weight (in kgs} of 10 college students are given .

below. Calculate the standard deviation :

80, 65, 70, 62, 62, 68, 70, 72, 74, 80. 3+8
(d} Write short notes on : 4+4+3
(i) AIDS

(ii} Abuse of drugs

(iii) Filaria
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. The figures in the right-hand margin indicate full marks.

Answer all questions.

1. Determine the clotting time and interpret your result.
3+2

2. ldentify the abnormal substances present in the supplied
urine. Prepare a report from your result. Mention the

clinical impertance. 5+2+3

3. Determine the body surface area of your friend. Interpret
your result. +3+1
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4. Measure shoulder height and wrist circumference of your

friend and Interpret your resulit. 2+2
5. Laboratory Note Bock. 3e
6. Viva Voce. 4
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NEW
Part-III 3-Tier
2016
PHYSIOLOGY
(General) !
PAPER~IVB
(PRACTICAL)
Full Marks : 30
Time : 3 Hours

The figures in the right-hand margin indicate full marks.

[ Instructions to the Exdminers ]

Determination of- clotting time. ' . 3
Interpretatior{. 2

Please supply any two substances in a sample from the
following : (Students will ptck up two sample from the

Glucose, Albumm B11e salt.

Students will perform cne bmchemmal identification test
for each abnormal constltuents from the supplied samples.

Total 2 tests, one for each sample . 2 x 2
Report Preparation. 1x2
Clinical Importance. 15 %2
Measurement of height & weight. 1
Correct formulae for surface area. 1
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Calculation & Result {Students may use calculafor.) 1

Interpretation. 1
4. Result for each measurement. 1x2

Interpretation. _ 1x2"

5. Please check three groups of experimenis ie.

Hematological, Clinical Pathology and Human experiments
for full credit. 3

6. Practical based questions should be asked. (at least four)
o ' 4

After completion of examination, please send the following
documents immediately to the coordinator :
(i} Evaluated answer scripts.
(ii) Properly filled award list. (Not to be teared)
(iii) Sample key of the examination.
(iv)] Attendance sheets of the students.

"

N.B. Each answer scripts and award list should be
signed by all examiners concerned..

Co-ordinator cum HE

Dr. Saswati Parna (Mondal)
Dept. of Physiology
Bajkul Milani Mahavidyalaya
P.O. : Kismat Bajkul
Dist. : Purba Medinipur.
(M) : 9475114946

E-mail :saswati.parna@gmail.com
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